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assumptions wherever required Jor solving problems.
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a) Why some children can’t digest milk or dairy'ji; p%’duﬁfﬁ Which | 3.0
biomolecules are responsible for this problem? G N

b) Identify the molecule which is not a sugar, hmﬁgylﬁéﬁé_ﬁéually utilized as an
artificial sugar. Define its major constituents. " q"‘w;”*:f 2
If there is depletion in the glucose Ievelsﬁ;éﬁ;s‘ggéiﬂ ed biochemical process | 3.0
oceur in cells for formation of glucose. £ ®
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a) Identify the biochemical event, ﬁ“% Y
b) Explain the three major biochg;’h%é“éliffﬁgnts which can’t be processed using
the enzymes of glycolysis. P T
Why you experience pain, in,“muscles after vigorous exercise? Which | 3.0
biochemical event is re,gpﬁps‘{irbf??ef(’ir this pain and how it gets rectified?
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‘Although peptide bond ‘":‘?{ﬁs'*:v.-i"fovalent, however it shows several peculiar | 3.0
properties, whi%l;q‘ mak@‘s‘? it %tronger as compared to other bonds present in a
protein’, J us}if)ﬁ tli'?i§ statement with structural features of peptide bond.

A person}hgﬁi‘a,f‘sul-fed"%a medical professional for a complaint of fatigue and | 3.0
musclg;‘&éﬂg‘;i?if«.s&n €xamination by medical person it was diagnosed that the
fogg%**'é‘ngi: water content had some contaminants which hamper the major

“::gng;vg:’y::g%hgi'ating pathway of body.

— a) Iduu"%ii%y the-above mentioned energy generating pathway:.
E fhl Explain the biochemical event which block the energy generation,
_Design a protein purification strategy in which Yyou need to get a single protein | 5.0

response in a tested mice,
How do you estimate the km for the enzymatic reaction in which the substrate | 5.0

concentration was 30umol/L? The initial velocity for reaction was 3.0x10¢
pmol/L.min" and the Vinax obtained 9.0x107 umol/L.min"'?
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